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olve systems of equations by substitution

1. y=3x
x + 2y = -21

f+:2.· 3)(":: -2(
x-+- foy:-:. -:d
{x _ - 21
...:--- ~ ---
7 7

X-= -3
YES cH }..)o

y ==-6
4x + y = 2

~ Y + -~ ~ 2.-
4'1- (p~ L

4- (p +-t:,

~~~
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2. x + Sy = -3
3x-2y = 8

a. X:: - 5'1 -.5
3 (:5'1- 3) - 2-y= 8>
-l5y -9 - 2-y ~8
...II,! - '1;z: g

4-- 4 +cr
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Yes of No

x=2
3x - Y = 8
3-2-y=1;
(P-y :: g

-(p -<0------yS
- t - \

~-=- -2-
~ G:> of

6. x- 2y =-2
3x + Y = 6
y.. :. 2-1 - 2.-

a.3 lZ'(- 2) + 'l~ ~
~\j_(p +-~z- ~
'ly~lZ.
~ == \2/1

~ f,:> of N i.l

Yes I No Strategies

y =-x
Y==2x-6

- ~'I-=-2.t< - ~
- 2.-x - 2.- ~---- - --Co

~
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- 3x -z.
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-~
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b. ( )'/-=- --:; -1-3

'1= 5-3

x~ ~
'~t:~of Nb

N°
b· x~ 2(4)-2-
x~~_.r{

7 7
I=- !S?
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